

	T	1			1							Jaca Bradlay	Samaturration Co. I		•						
		Estimated	Unit Of	Sippel Develo	opment. Inc.	DOLI Construction Corporation		G R Charles Excavating Ltd.		R-III Construction Inc		-	Construction Co.,	Greenland Co	nstruction. Inc.	Continental Construction, Inc.		PACT ONE, LLC		Anri	ch.Inc.
NO.	Description	Quantity	Measure	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension
GENERA	AL																				
	MOBILIZATION AND PROJECT																				
1	MANAGEMENT	1	L.S.	\$355,000.00	\$355,000.00	\$250,000.00	\$250,000.00	\$75,000.00	\$75,000.00	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$423,966.81	\$423,966.81	\$73,800.00	\$73,800.00	\$75,000.00	\$75,000.00	\$24,000.00	\$24,000.00
2	TRAFFIC MAINTENANCE AND PROTECTION	1	L.S.	\$21,630.00	\$21,630.00	\$100,000.00	\$100,000.00	\$28,000.00	\$28,000.00	\$160,000.00	\$160,000.00	\$25,000.00	\$25,000.00	\$64,000.00	\$64,000.00	\$125,000.00	\$125,000.00	\$30,000.00	\$30,000.00	\$48,000.00	\$48,000.00
3	EROSION AND SEDIMENTATION CONTROLS	1	L.S.	\$650.00	\$650.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	\$25,400.00	\$25,400.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00
4	CLEARING AND GRUBBING	1	L.S.	\$15,766.00	\$15,766.00	\$3,000.00	\$3,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$34,000.00	\$34,000.00	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00
5	BYPASS PUMPING	1	L.S.	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$5,000.00	\$5,000.00	\$19,500.00	\$19,500.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00
SANITA	RY SEWER MANHOLES AND APPURTENANC	ES																			
6	4 FOOT DIAMETER MANHOLE	226.77	V.F.	\$314.00	\$71,205.78	\$250.00	\$56,692.50	\$635.00	\$143,998.95	\$665.00	\$150,802.05	\$300.00	\$68,031.00	\$341.11	\$77,353.51	\$575.00	\$130,392.75	\$500.00	\$113,385.00	\$441.00	\$100,005.57
7	5 FOOT DIAMETER MANHOLE	39.62	V.F.	\$421.00	\$16,680.02	\$400.00	\$15,848.00	\$725.00	\$28,724.50	\$492.00	\$19,493.04	\$600.00	\$23,772.00	\$504.79	\$19,999.78	\$750.00	\$29,715.00	\$750.00	\$29,715.00	\$674.00	\$26,703.88
8	STANDARD MANHOLE FRAME AND COVER	28	EA.	\$416.00	\$11,648.00	\$600.00	\$16,800.00	\$600.00	\$16,800.00	\$550.00	\$15,400.00	\$500.00	\$14,000.00	\$312.00	\$8,736.00	\$350.00	\$9,800.00	\$300.00	\$8,400.00	\$907.00	\$25,396.00
9	WATERTIGHT MANHOLE FRAME AND COVER	4	EA.	\$437.00	\$1,748.00	\$700.00	\$2,800.00	\$625.00	\$2,500.00	\$650.00	\$2,600.00	\$550.00	\$2,200.00	\$364.00	\$1,456.00	\$550.00	\$2,200.00	\$400.00	\$1,600.00	\$1,000.00	\$4,000.00
10	6" CONNECTION TO EXISTING MANHOLE	1	EA.	\$1,057.00	\$1,057.00	\$2,500.00	\$2,500.00	\$840.00	\$840.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$301.00	\$301.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$450.00	\$450.00
11	8" CONNECTION TO EXISTING MANHOLE	1	EA.	\$1,061.00	\$1,061.00	\$2,500.00	\$2,500.00	\$840.00	\$840.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$382.00	\$382.00	\$1,750.00	\$1,750.00	\$1,000.00	\$1,000.00	\$550.00	\$550.00
12	MANHOLE CORROSION PROTECTION	1	ΕΔ.	¢1 810 00	¢1 810 00	¢4.000.00	¢4.000.00	¢12 F00 00	Ć12 F00 00	ĆE 900 00	ĆE 900 00	¢3 F00 00	ć2 F00 00	¢4.700.00	ć4 700 00	¢c 500 00	¢c 500 00	¢3 F00 00	ć2 F00 00	¢4.000.00	¢4,000,00
12	LINING - EXISTING MH-151 MANHOLE CORROSION PROTECTION	1	EA.	\$1,810.00	\$1,810.00	\$4,000.00	\$4,000.00	\$12,500.00	\$12,500.00	\$5,800.00	\$5,800.00	\$3,500.00	\$3,500.00	\$4,700.00	\$4,700.00	\$6,500.00	\$6,500.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00
	LINING - NEW 4 FOOT DIAMETER																				
13	MANHOLE	31.3	V.F.	\$280.00	\$8,764.00	\$500.00	\$15,650.00	\$100.00	\$3,130.00	\$326.00	\$10,203.80	\$500.00	\$15,650.00	\$561.15	\$17,564.00	\$575.00	\$17,997.50	\$400.00	\$12,520.00	\$530.00	\$16,589.00
	MANHOLE CORROSION PROTECTION																				
	LINING - NEW 5 FOOT DIAMETER	47.76	\	6225.00	<b>65.040.60</b>	<b>4500.00</b>	40,000,00	6475.00	¢2.400.00	¢225.00	<b>45 700 7</b> 6	ć=2= 00	60.224.00	6675.67	ć44 000 00	<b>\$</b> 500.00	ć40.656.00	Ć450.00	ć <del>.</del> 7 002 00	<b>45</b> 60.00	¢0.045.60
14	MANHOLE INSIDE DROP CONNECTIONS - 4 INCH DROP	17.76	V.F.	\$335.00	\$5,949.60	\$500.00	\$8,880.00	\$175.00	\$3,108.00	\$326.00	\$5,789.76	\$525.00	\$9,324.00	\$675.67	\$11,999.90	\$600.00	\$10,656.00	\$450.00	\$7,992.00	\$560.00	\$9,945.60
15	PIPE	1	EA.	\$431.00	\$431.00	\$1,500.00	\$1,500.00	\$650.00	\$650.00	\$800.00	\$800.00	\$750.00	\$750.00	\$400.00	\$400.00	\$475.00	\$475.00	\$600.00	\$600.00	\$800.00	\$800.00
16	INSIDE DROP CONNECTIONS - 6 INCH DROP	3	EA.	\$453.00	\$1,359.00	\$2,000.00	\$6,000.00	\$725.00	\$2,175.00	\$800.00	\$2,400.00	\$800.00	\$2,400.00	\$450.00	\$1,350.00	\$1,250.00	\$3,750.00	\$800.00	\$2,400.00	\$820.00	\$2,460.00
10	INSIDE DROP CONNECTIONS - 8 INCH DROP	3	2711	Ç433.00	ψ1,333.00	<b>\$2,000.00</b>	φο,οσσ.σσ	ψ7 <b>2</b> 3.00	Ų2,173.00	φου.υυ	ψ <u>2</u> ,-100.00	Ç000.00	\$2,400.00	ψ 130.00	ψ1,330.00	ψ1,230.00	ψ3,730.00	φου.υυ	<b>\$2,400.00</b>	ψ020.00	<b>72,100.00</b>
17	PIPE	1	EA.	\$525.00	\$525.00	\$2,000.00	\$2,000.00	\$825.00	\$825.00	\$800.00	\$800.00	\$800.00	\$800.00	\$1,100.00	\$1,100.00	\$575.00	\$575.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
18	MANHOLE MH-103 MODIFICATIONS	1	L.S.	\$1,688.00	\$1,688.00	\$2,500.00	\$2,500.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$1,850.00	\$1,850.00
SANITA	RY SEWER MANHOLES AND APPURTENANC	ES			· ·	•									· ·						
	6" PVC SANITARY SEWER MAIN																				
19	INSTALLATION 8" PVC SANITARY SEWER MAIN	461	L.F.	\$9.00	\$4,149.00	\$23.00	\$10,603.00	\$9.00	\$4,149.00	\$9.00	\$4,149.00	\$28.00	\$12,908.00	\$16.00	\$7,376.00	\$58.00	\$26,738.00	\$110.00	\$50,710.00	\$252.00	\$116,172.00
20	INSTALLATION	3013	L.F.	\$10.50	\$31,636.50	\$28.00	\$84,364.00	\$4.50	\$13,558.50	\$13.00	\$39,169.00	\$30.00	\$90,390.00	\$19.00	\$57,247.00	\$65.00	\$195,845.00	\$115.00	\$346,495.00	\$252.00	\$759,276.00
	8" DUCTILE IRON SANITARY SEWER MAIN			, =====	, : , , ; ; ;	,	, : , : : : : : : : : : : : : : : : : :	7	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	, ,	,5550	, : : , : : : : : : : : : : : : : : : :	, <b>0</b>	, - ,	755.50	, 11,01010	,	, : :, :2:30	,	,,
	INSTALLATION	247	L.F.	\$28.00	\$6,916.00	\$63.00	\$15,561.00	\$47.00	\$11,609.00	\$28.00	\$6,916.00	\$55.00	\$13,585.00	\$70.00	\$17,290.00	\$105.00	\$25,935.00	\$135.00	\$33,345.00	\$290.00	\$71,630.00
	10" PVC SANITARY SEWER MAIN	277.			400 0		400		400		<b></b>	٠ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ ـ	400				A4=a =		4000	Aa :	Aco
	INSTALLATION	2724	L.F.	\$12.00	\$32,688.00	\$33.00	\$89,892.00	\$11.00	\$29,964.00	\$19.00	\$51,756.00	\$33.00	\$89,892.00	\$20.00	\$54,480.00	\$56.00	\$152,544.00	\$120.00	\$326,880.00	\$255.00	\$694,620.00
	6" X 6" PVC WYE	2	EA.	\$155.00 \$167.00	\$310.00	\$50.00 \$100.00	\$100.00	\$110.00	\$220.00 \$2,530.00	\$450.00 \$450.00	\$900.00	\$100.00	\$200.00 \$3,300.00	\$63.00	\$126.00 \$1,826.00	\$175.00 \$225.00	\$350.00	\$50.00	\$100.00 \$1,650.00	\$31.00 \$50.00	\$62.00 \$1,100.00
	8" X 6" PVC WYE 10" X 6" PVC WYE	22 6	EA. EA.	\$167.00	\$3,674.00 \$1,326.00	\$100.00	\$2,200.00 \$3,000.00	\$115.00 \$180.00	\$2,530.00	\$450.00	\$9,900.00	\$150.00 \$200.00	\$3,300.00	\$83.00 \$162.00	\$1,826.00	\$225.00	\$4,950.00 \$1,500.00	\$75.00 \$100.00	\$1,650.00	\$50.00	\$1,100.00
	8" X 6" DUCTILE IRON WYE	2	EA.	\$1,100.00	\$1,326.00	\$500.00	\$3,000.00	\$180.00	\$1,080.00	\$950.00	\$3,900.00	\$200.00	\$1,200.00	\$1,200.00	\$972.00	\$250.00 \$475.00	\$1,500.00	\$100.00	\$1,000.00		\$4,000.00
	6" SANITARY SEWER LATERAL PIPE		ΕΛ.	71,100.00	72,200.00	7300.00	71,000.00	71,170.00	72,340.00	\$330.00	γ±,500.00	Ç300.00	71,000.00	71,200.00	72, <del>4</del> 00.00	Ç473.00	7930.00	\$300.00	71,000.00	72,000.00	γ <del>-1</del> ,000.00
	INSTALLATION - AGGREGATE BACKFILL	120	L.F.	\$67.50	\$8,100.00	\$100.00	\$12,000.00	\$65.00	\$7,800.00	\$68.00	\$8,160.00	\$70.00	\$8,400.00	\$84.00	\$10,080.00	\$75.00	\$9,000.00	\$100.00	\$12,000.00	\$60.00	\$7,200.00
	6" SANITARY SEWER LATERAL PIPE INSTALLATION - SUITABLE BACKFILL	438	L.F.	\$43.00	619 924 00	¢75.00	622.050.00	¢=0.00	¢2E 404 00	642.00	¢10 20C 00	¢c0.00	¢26,280,00	\$54.00	622 (52.00	\$58.00	¢3E 404 00	¢00.00	620,420,00	¢25.00	¢1E 220 00
28	SANITARY SEWER 6" MAIN CLEANOUT	430	L.F.	\$45.00	\$18,834.00	\$75.00	\$32,850.00	\$58.00	\$25,404.00	\$42.00	\$18,396.00	\$60.00	\$26,280.00	\$54.00	\$23,652.00	00.86¢	\$25,404.00	\$90.00	\$39,420.00	\$35.00	\$15,330.00
29	INSTALLATION	7	EA.	\$388.00	\$2,716.00	\$1,500.00	\$10,500.00	\$500.00	\$3,500.00	\$650.00	\$4,550.00	\$600.00	\$4,200.00	\$766.00	\$5,362.00	\$750.00	\$5,250.00	\$500.00	\$3,500.00	\$700.00	\$4,900.00
	SANITARY SEWER LATERAL CLEANOUT			·	. ,		, ,	·		·	, ,	·	, ,	•		·	. ,	'			
30	INSTALLATION	33	EA.	\$387.00	\$12,771.00	\$300.00	\$9,900.00	\$500.00	\$16,500.00	\$350.00	\$11,550.00	\$650.00	\$21,450.00	\$614.00	\$20,262.00	\$650.00	\$21,450.00	\$500.00	\$16,500.00	\$700.00	\$23,100.00

								Ioan Bradley	Construction Co												
		Estimated	Unit Of	Sippel Deve	lopment, Inc.	DOLI Constructi	on Corporation	G R Charles E	es Excavating Ltd. R-III Construction In		truction Inc	Joao Bradley Construction Co., Inc.		Greenland Construction, Inc.		Continental Construction, Inc.		PACT ON	NE, LLC	Anrio	ch,Inc.
NO.	Description	Quantity	Measure	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension
SANITA	RY SEWER EXCAVATION & AGGREGATE BAC	CKFILL																			
31	0 - 8' DEPTH SANITARY SEWER EXCAVATION AGGREGATE BACKFILL	727	L.F.	\$84.00	\$61,068.00	\$100.00	\$72,700.00	\$49.00	\$35,623.00	\$66.00	\$47,982.00	\$90.00	\$65,430.00	\$63.00	\$45,801.00	\$60.00	\$43,620.00	\$25.00	\$18,175.00	\$51.00	\$37,077.00
31	8' - 10' DEPTH SANITARY SEWER	, , , ,		Ç04.00	ψο1,000.00	7100.00	ψ72,700.00	ψ43.00	ψ33,0 <b>2</b> 3.00	Ç00.00	Ç47,302.00	<b>750.00</b>	<del>\$03,430.00</del>	ψ03.00	\$43,001.00	Ç00.00	\$43,020.00	Ç23.00	ψ10,173.00	γ31.00	ψ37,077.00
32	EXCAVATION AGGREGATE BACKFILL	1605	L.F.	\$98.00	\$157,290.00	\$150.00	\$240,750.00	\$62.00	\$99,510.00	\$81.00	\$130,005.00	\$110.00	\$176,550.00	\$72.00	\$115,560.00	\$65.00	\$104,325.00	\$35.00	\$56,175.00	\$64.00	\$102,720.00
33	10' - 12' DEPTH SANITARY SEWER EXCAVATION AGGREGATE BACKFILL	303	L.F.	\$119.00	\$36,057.00	\$200.00	\$60,600.00	\$74.00	\$22,422.00	\$86.00	\$26,058.00	\$140.00	\$42,420.00	\$84.00	\$25,452.00	\$70.00	\$21,210.00	\$45.00	\$13,635.00	\$81.00	\$24,543.00
	12 - 14' DEPTH SANITARY SEWER			7=====	700,000	7-00:00	<b>+</b>	7	¥==, :==:::	700.00	+==,====	7=10.00	<b>4</b> 12,12000	70.100	Ţ=0, 10=100	7:3:00	7/	7 10100	<del>+</del>	702.00	7 - 1/2 10100
34	EXCAVATION AGGREGATE BACKFILL	191	L.F.	\$154.00	\$29,414.00	\$225.00	\$42,975.00	\$94.00	\$17,954.00	\$101.00	\$19,291.00	\$180.00	\$34,380.00	\$110.00	\$21,010.00	\$80.00	\$15,280.00	\$55.00	\$10,505.00	\$100.00	\$19,100.00
35	14' PLUS DEPTH SANITARY SEWER EXCAVATION AGGREGATE BACKFILL	25	L.F.	\$220.00	\$5.500.00	\$100.00	\$2,500.00	\$130.00	\$3,250.00	\$200.00	\$5.000.00	\$275.00	\$6.875.00	\$129.00	\$3,225.00	\$110.00	\$2,750.00	\$70.00	\$1.750.00	\$132.00	\$3,300.00
SANITA	RY SEWER EXCAVATION & SUITABLE BACKF	ILL		·		·				·		·		,	, ,	·		·		·	
36	0 - 8' DEPTH SANITARY SEWER EXCAVATION SUITABLE BACKFILL	2621		ĆEC 00	¢146 776 00	\$60.00	¢157.200.00	¢39.00	¢00 F00 00	¢2F 00	¢01 735 00	¢c0.00	¢157.200.00	ć27.00	¢0¢ 077 00	\$30.00	¢70 C20 00	¢15.00	¢20.24F.00	¢22.00	¢co 202 00
30	8' - 10' DEPTH SANITARY SEWER	2021	L.F.	\$56.00	\$146,776.00	\$60.00	\$157,260.00	\$38.00	\$99,598.00	\$35.00	\$91,735.00	\$60.00	\$157,260.00	\$37.00	\$96,977.00	\$30.00	\$78,630.00	\$15.00	\$39,315.00	\$23.00	\$60,283.00
37	EXCAVATION SUITABLE BACKFILL	700	L.F.	\$62.00	\$43,400.00	\$100.00	\$70,000.00	\$41.00	\$28,700.00	\$38.00	\$26,600.00	\$70.00	\$49,000.00	\$39.00	\$27,300.00	\$35.00	\$24,500.00	\$20.00	\$14,000.00	\$27.00	\$18,900.00
38	10' - 12' DEPTH SANITARY SEWER EXCAVATION SUITABLE BACKFILL	188	L.F.	\$69.50	\$13,066.00	\$125.00	\$23,500.00	\$47.00	\$8,836.00	\$75.00	\$14,100.00	\$80.00	\$15,040.00	\$42.00	\$7,896.00	\$40.00	\$7,520.00	\$25.00	\$4,700.00	\$34.00	\$6,392.00
36	12' - 14' DEPTH SANITARY SEWER	100	L.II.	\$09.50	\$13,000.00	\$125.00	\$23,300.00	Ş47.00	\$6,630.00	\$75.00	314,100.00	\$80.00	\$13,040.00	342.00	\$7,890.00	Ş40.00	\$7,320.00	\$23.00	34,700.00	Ş34.00	\$0,392.00
39	EXCAVATION SUITABLE BACKFILL	75	L.F.	\$101.00	\$7,575.00	\$150.00	\$11,250.00	\$55.00	\$4,125.00	\$110.00	\$8,250.00	\$90.00	\$6,750.00	\$80.00	\$6,000.00	\$50.00	\$3,750.00	\$30.00	\$2,250.00	\$46.00	\$3,450.00
40	14' PLUS DEPTH SANITARY SEWER EXCAVATION SUITABLE BACKFILL	25	L.F.	\$159.00	\$3,975.00	\$75.00	\$1,875.00	\$115.00	\$2,875.00	\$165.00	\$4,125.00	\$120.00	\$3,000.00	\$90.00	\$2,250.00	\$65.00	\$1,625.00	\$50.00	\$1,250.00	\$70.00	\$1,750.00
	MAIN AND LOW PRESSURE SEWER MANHOL			<u> </u>	Ç3,373.00	\$75.00	71,073.00	Ş115.00	Ş2,073.00	Ş103.00	Ş <del>4</del> ,123.00	Ş120.00	\$3,000.00	\$30.00	72,230.00	\$65.00	71,023.00	\$30.00	71,230.00	770.00	\$1,730.00
41	ARVM-8 AIR VALVE CHAMBER	1	L.S.	\$8,960.00	\$8,960.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$21,390.00	\$21,390.00	\$25,000.00	\$25,000.00	\$14,000.00	\$14,000.00	\$17,000.00	\$17,000.00	\$20,000.00	\$20,000.00	\$27,500.00	\$27,500.00
42	AIR RELEASE VALVE MANHOLE - FORCE MAIN	5	EA.	\$6,564.00	\$32,820.00	\$8,000.00	\$40,000.00	\$5,050.00	\$25,250.00	\$9,800.00	\$49,000.00	\$12,000.00	\$60,000.00	\$7,500.00	\$37,500.00	\$12,000.00	\$60,000.00	\$15,000.00	\$75,000.00	\$10,500.00	\$52,500.00
-12	AIR RELEASE VALVE MANHOLE - LOW		27.11	Ç0,304.00	ψ32,020.00	φο,σσσ.σσ	φ-10,000.00	<i>\$3,030.00</i>	Ψ23,230.00	<b>43,000.00</b>	ψ43,000.00	712,000.00	<del>700,000.00</del>	\$7,500.00	<i>\$37,300.00</i>	<b>Ÿ12,000.00</b>	<del>400,000.00</del>	<b>\$15,000.00</b>	ψ73,000.00	\$10,500.00	ψ3 <b>2</b> ,300.00
43	PRESSURE SEWER	6	EA.	\$4,578.00	\$27,468.00	\$8,000.00	\$48,000.00	\$4,250.00	\$25,500.00	\$9,800.00	\$58,800.00	\$10,000.00	\$60,000.00	\$7,400.00	\$44,400.00	\$5,850.00	\$35,100.00	\$10,000.00	\$60,000.00	\$9,500.00	\$57,000.00
44	TERMINAL CLEANOUT - LOW PRESSURE SEWER	1	EA.	\$1,010.00	\$1,010.00	\$2,000.00	\$2,000.00	\$700.00	\$700.00	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$550.00	\$550.00	\$3,850.00	\$3,850.00	\$5,000.00	\$5,000.00	\$2,200.00	\$2,200.00
	IN-LINE CLEANOUT - LOW PRESSURE			7-/0-0100	<del>+-/</del>	<b>+=</b> /000000	<del>+=</del> /	7.00.00	7.00.00	40,000.00	70,000.00	70,000.00	72,000.00	7000.00	700000	70,000.00	40,000.00	40,000.00	40,000.00	7=7=00:00	7-7-0000
	SEWER  MAIN AND LOW PRESSURE SEWER PIPE AND	8 D ADDUDTEN	EA.	\$1,560.00	\$12,480.00	\$2,000.00	\$16,000.00	\$1,500.00	\$12,000.00	\$3,800.00	\$30,400.00	\$2,000.00	\$16,000.00	\$550.00	\$4,400.00	\$2,750.00	\$22,000.00	\$5,000.00	\$40,000.00	\$4,400.00	\$35,200.00
	6" HDPE FORCE MAIN	7515	L.F.	\$92.00	\$691,380.00	\$103.00	\$774,045.00	\$94.00	\$706,410.00	\$98.00	\$736,470.00	\$115.00	\$864,225.00	\$104.00	\$781,560.00	\$125.00	\$939,375.00	\$130.00	\$976,950.00	\$20.00	\$150,300.00
47	1.25" HDPE LOW PRESSURE SEWER MAIN	391	L.F.	\$47.00	\$18,377.00	\$38.00	\$14,858.00	\$91.00	\$35,581.00	\$48.00	\$18,768.00	\$60.00	\$23,460.00	\$71.00	\$27,761.00	\$52.00	\$20,332.00	\$60.00	\$23,460.00	\$14.50	\$5,669.50
48	1.5" HDPE LOW PRESSURE SEWER MAIN	561	L.F.	\$48.00	\$26,928.00	\$38.00	\$21,318.00	\$91.00	\$51,051.00	\$48.00	\$26,928.00	\$63.00	\$35,343.00	\$73.00	\$40,953.00	\$58.00	\$32,538.00	\$62.00	\$34,782.00	\$15.00	\$8,415.00
49	2" HDPE LOW PRESSURE SEWER MAIN	3844	L.F.	\$53.00	\$203,732.00	\$43.00	\$165,292.00	\$90.00	\$345,960.00	\$58.00	\$222,952.00	\$67.00	\$257,548.00	\$75.00	\$288,300.00	\$65.00	\$249,860.00	\$64.00	\$246,016.00	\$15.00	\$57,660.00
50	3" HDPE LOW PRESSURE SEWER MAIN 1.25" HDPE LOW PRESSURE LATERAL -	2534	L.F.	\$54.00	\$136,836.00	\$43.00	\$108,962.00	\$90.00	\$228,060.00	\$65.00	\$164,710.00	\$77.00	\$195,118.00	\$88.00	\$222,992.00	\$70.00	\$177,380.00	\$66.00	\$167,244.00	\$15.50	\$39,277.00
51	LAWN	6737	L.F.	\$44.00	\$296,428.00	\$33.00	\$222,321.00	\$85.00	\$572,645.00	\$48.00	\$323,376.00	\$32.00	\$215,584.00	\$18.00	\$121,266.00	\$40.00	\$269,480.00	\$60.00	\$404,220.00	\$23.50	\$158,319.50
	1.25" HDPE LOW PRESSURE LATERAL -	400		<b>450.00</b>	60.450.00	<b>422.00</b>	¢6.227.00	ć05.00	Ć4.C 0.CE 00	<b>450.00</b>	640 504 00	¢20.00	ά <b>7</b> 402 00	ć27.00	ć= 402.00	ć44.00	Ć0 24 C 00	¢50.00	Ć44 240 00	<b>456.50</b>	640.670.50
52	PAVED DRIVEWAY  1.25" HDPE LOW PRESSURE LATERAL -	189	L.F.	\$50.00	\$9,450.00	\$33.00	\$6,237.00	\$85.00	\$16,065.00	\$56.00	\$10,584.00	\$38.00	\$7,182.00	\$27.00	\$5,103.00	\$44.00	\$8,316.00	\$60.00	\$11,340.00	\$56.50	\$10,678.50
53	IMPROVED SURFACE DRIVEWAY	230	L.F.	\$48.00	\$11,040.00	\$40.00	\$9,200.00	\$85.00	\$19,550.00	\$45.00	\$10,350.00	\$38.00	\$8,740.00	\$23.00	\$5,290.00	\$48.00	\$11,040.00	\$60.00	\$13,800.00	\$56.50	\$12,995.00
5.4	1.25" HDPE LOW PRESSURE LATERAL - PAVED PARKING AREA	12	L.F.	\$50.00	\$600.00	\$50.00	\$600.00	\$85.00	\$1,020.00	\$45.00	\$540.00	\$38.00	\$456.00	\$27.00	\$324.00	\$48.00	\$576.00	\$60.00	\$720.00	\$56.50	\$678.00
34	1.25" HDPE LOW PRESSURE LATERAL -	12	L.II.	\$30.00	\$000.00	\$30.00	\$000.00	363.00	\$1,020.00	\$45.00	3340.00	Ş36.00	\$430.00	\$27.00	Ş324.00	348.00	\$370.00	\$00.00	\$720.00	\$30.30	\$078.00
55	MUNICIPAL PAVED STREET	58	L.F.	\$50.00	\$2,900.00	\$50.00	\$2,900.00	\$85.00	\$4,930.00	\$48.00	\$2,784.00	\$40.00	\$2,320.00	\$27.00	\$1,566.00	\$48.00	\$2,784.00	\$60.00	\$3,480.00	\$56.50	\$3,277.00
56	1.25" HDPE LOW PRESSURE LATERAL - PENNDOT	720	L.F.	\$52.00	\$37,440.00	\$40.00	\$28,800.00	\$85.00	\$61,200.00	\$48.00	\$34,560.00	\$45.00	\$32,400.00	\$35.00	\$25,200.00	\$52.00	\$37,440.00	\$100.00	\$72,000.00	\$57.00	\$41,040.00
	LOW PRESSURE LATERAL CONNECTION TO			702.00	401/110100	7 10100	<b>+</b> -0/000	70000	<del>+</del>	7 10100	75 7,555.55	7 10100	<del>+</del>	700.00	<b>+==</b> ,=====	70=00	701/11000	7 = 3 3 3 3	# · = / · · · · · · · · · · · · · · · · ·	701100	<del>+ 1 = / 5 1 5 1 5 1 5 1 5 1 5 1 5 1 5 1 5 1 5</del>
57	1.25" MAIN LOW PRESSURE LATERAL CONNECTION TO	4	EA.	\$2,378.00	\$9,512.00	\$500.00	\$2,000.00	\$375.00	\$1,500.00	\$1,800.00	\$7,200.00	\$100.00	\$400.00	\$165.00	\$660.00	\$675.00	\$2,700.00	\$500.00	\$2,000.00	\$32.00	\$128.00
58	1.5" MAIN	7	EA.	\$2,365.00	\$16,555.00	\$500.00	\$3,500.00	\$500.00	\$3,500.00	\$1,600.00	\$11,200.00	\$100.00	\$700.00	\$165.00	\$1,155.00	\$700.00	\$4,900.00	\$500.00	\$3,500.00	\$38.00	\$266.00
	LOW PRESSURE LATERAL CONNECTION TO	26		40.01	401.0====	4.05	440 105 55	4=======	A	A. 05	A.0.0=====	446	40.000	40	A= 10	A=c=	A40.055.51	4=4	40.00==:	400	A. =c :
59	2" MAIN LOW PRESSURE LATERAL CONNECTION TO	26	EA.	\$2,349.00	\$61,074.00	\$400.00	\$10,400.00	\$550.00	\$14,300.00	\$1,800.00	\$46,800.00	\$100.00	\$2,600.00	\$211.00	\$5,486.00	\$725.00	\$18,850.00	\$500.00	\$13,000.00	\$69.00	\$1,794.00
60	3" MAIN	8	EA.	\$2,353.00	\$18,824.00	\$400.00	\$3,200.00	\$500.00	\$4,000.00	\$1,900.00	\$15,200.00	\$100.00	\$800.00	\$248.00	\$1,984.00	\$750.00	\$6,000.00	\$500.00	\$4,000.00	\$73.00	\$584.00
C1	LOW PRESSURE LATERAL CURB STOP AND	65	EA.	\$1,478.00	\$96,070.00	\$500.00	¢22 E00 00	\$600.00	¢20,000,00	¢1 200 00	¢70 000 00	\$400.00	\$26,000.00	\$355.00	¢22.07F.00	\$450.00	\$29,250.00	\$500.00	\$32,500.00	¢=20.00	¢24.4F0.00
01	CHECK VALVE ASSEMBLY LOW PRESSURE LATERAL CONNECTION TO	05	EA.	\$1,478.00	00.070,000	ου.υυσ	\$32,500.00	\$000.00	\$39,000.00	\$1,200.00	\$78,000.00	\$400.00	\$20,000.00	\$355.00	\$23,075.00	\$45U.UU	\$43,45U.UU	φ500.00	\$5 <b>2</b> ,500.00	\$530.00	\$34,450.00
62	8" GRAVITY SEWER	19	EA.	\$2,410.00	\$45,790.00	\$500.00	\$9,500.00	\$300.00	\$5,700.00	\$1,850.00	\$35,150.00	\$250.00	\$4,750.00	\$373.00	\$7,087.00	\$225.00	\$4,275.00	\$500.00	\$9,500.00	\$230.00	\$4,370.00
63	LOW PRESSURE LATERAL CONNECTION TO 10" GRAVITY SEWER	1	EA.	\$2,438.00	\$2,438.00	\$500.00	\$500.00	\$325.00	\$325.00	\$4,500.00	\$4,500.00	\$250.00	\$250.00	\$490.00	\$490.00	\$250.00	\$250.00	\$500.00	\$500.00	\$410.00	\$410.00
03	TO SINCE IT SEVER		L/A.	72,730.00	72,730.00	7500.00	7300.00	7J2J.00	7323.00	γ <del>-</del> 7,300.00	γ <del>-</del> 7,200.00	72JU.UU	7230.00	γ <del>-</del> -50.00	γ <del>-</del> 70.00	7230.00	72JU.UU	7500.00	7500.00	Ÿ₹10.00	7-10.00

GRINDER PUMP STATIONS  64 GRINDER PUMP STA  GRINDER PUMP STA  65 WITHIN THE 100-YE/  66 GRINDER PUMP STA  67 GRINDER PUMP STA  68 GRINDER PUMP RISE  HIGHWAY, RIVER AND RAIL  JUNIATA PARKWAY/  69 HIGHWAY CROSSING  SHORTCUT ROAD/RI  70 HIGHWAY CROSSING  JUNIATA RIVER AND  71 R.R CROSSING  STREAM CROSSINGS  72 STREAM CROSSING SIREAM CR	ATION - SIMPLEX ATION - SIMPLEX EAR FLOODPLAIN ATION - DUPLEX ARE PUMP CORES SER SECTION ILROAD CROSSINGS I/RED HILL ROAD NG RED HILL ROAD NG D NORFOLK SOUTHERN  6 #1 6 #2 I/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	22 39 1 2 125 217 97 1 1 1 6536 25 805 922	Unit Of Measure  EA.  EA.  EA.  EA.  V.F.  L.F.  L.S.  L.S.  L.S.  L.F.  L.F.	\$4,785.00 \$4,785.00 \$11,478.00 \$11,478.00 \$125.00 \$125.00 \$275,000.00 \$8,000.00 \$170.00 \$170.00 \$266.00	\$105,270.00 \$105,270.00 \$187,512.00 \$11,478.00 \$3,790.00 \$15,625.00 \$99,603.00 \$57,909.00	\$5,500.00 \$5,700.00 \$10,000.00 \$1,500.00 \$250.00 \$200.00 \$2,500.00 \$2,500.00	\$121,000.00 \$121,000.00 \$222,300.00 \$10,000.00 \$3,000.00 \$12,500.00 \$19,400.00 \$300,000.00	\$6,500.00	\$99,000.00 \$187,200.00 \$9,200.00 \$3,200.00 \$6,250.00 \$126,100.00 \$605,000.00	\$3,984.00 \$4,200.00 \$6,800.00 \$1,800.00 \$135.00 \$795.00 \$650.00	\$87,648.00 \$163,800.00 \$6,800.00 \$3,600.00 \$16,875.00 \$172,515.00 \$63,050.00 \$335,500.00	\$7,000.00 \$7,200.00 \$12,000.00 \$750.00 \$200.00 \$950.00 \$340,000.00	\$154,000.00 \$154,000.00 \$280,800.00 \$12,000.00 \$1,500.00 \$25,000.00 \$111,550.00 \$340,000.00	\$6,250.00 \$7,400.00 \$14,000.00 \$135.00 \$467.00 \$267,000.00	\$137,500.00 \$288,600.00 \$14,000.00 \$3,800.00 \$16,875.00 \$101,339.00 \$31,040.00	\$6,500.00 \$7,000.00 \$9,500.00 \$150.00 \$575.00 \$225,000.00	\$143,000.00 \$143,000.00 \$273,000.00 \$9,500.00 \$7,000.00 \$18,750.00 \$124,775.00 \$55,775.00	\$5,000.00 \$6,000.00 \$8,500.00 \$3,500.00 \$300.00 \$1,000.00 \$450,000.00	\$110,000.00 \$110,000.00 \$234,000.00 \$8,500.00 \$7,000.00 \$37,500.00 \$195,300.00 \$97,000.00	\$6,300.00 \$6,500.00 \$10,000.00 \$4,100.00 \$550.00 \$900.00	\$253,500.00 \$10,000.00 \$8,200.00 \$68,750.00 \$195,300.00 \$82,450.00
GRINDER PUMP STATIONS  64 GRINDER PUMP STA  GRINDER PUMP STA  65 WITHIN THE 100-YEA  66 GRINDER PUMP STA  67 GRINDER PUMP STA  68 GRINDER PUMP SPA  68 GRINDER PUMP RISE  HIGHWAY, RIVER AND RAIL  JUNIATA PARKWAY/  69 HIGHWAY CROSSING  SHORTCUT ROAD/RI  70 HIGHWAY CROSSING  JUNIATA RIVER AND  71 R.R CROSSING  STREAM CROSSINGS  72 STREAM CROSSING  73 STREAM CROSSING  SURFACE RESTORATION  74 (S-1.01) VEGETATIVE  75 (S-2.11) PAVED ROA  76 (S-2.12) PAVED DRIV  (S-2.13) NEWPORT P  PRIVATE  (S-3.11A) CRAMER D  78 MUNICIPAL	ATION - SIMPLEX ATION - SIMPLEX ATION - SIMPLEX EAR FLOODPLAIN ATION - DUPLEX ARE PUMP CORES SER SECTION ILROAD CROSSINGS (/RED HILL ROAD NG RED HILL ROAD NG D NORFOLK SOUTHERN  6.#1 6.#2 //E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	22 39 1 2 125 217 97 1 1 1 6536 25 805	EA.  EA.  EA.  EA.  V.F.  L.F.  L.F.  L.S.  L.S.  L.S.  L.F.	\$4,785.00 \$4,808.00 \$11,478.00 \$11,895.00 \$125.00 \$459.00 \$597.00 \$275,000.00 \$8,000.00 \$7.00 \$170.00	\$105,270.00 \$187,512.00 \$11,478.00 \$3,790.00 \$15,625.00 \$99,603.00 \$57,909.00 \$275,000.00 \$8,000.00	\$5,500.00 \$5,700.00 \$10,000.00 \$1,500.00 \$100.00 \$250.00 \$200.00 \$300,000.00	\$121,000.00 \$222,300.00 \$10,000.00 \$3,000.00 \$12,500.00 \$54,250.00 \$19,400.00 \$300,000.00	\$4,500.00 \$4,800.00 \$9,200.00 \$1,600.00 \$50.00 \$1,150.00 \$1,300.00 \$605,000.00	\$99,000.00 \$187,200.00 \$9,200.00 \$3,200.00 \$6,250.00 \$249,550.00 \$126,100.00 \$605,000.00	\$3,984.00 \$4,200.00 \$6,800.00 \$1,800.00 \$135.00 \$795.00	\$87,648.00 \$163,800.00 \$6,800.00 \$3,600.00 \$16,875.00 \$172,515.00 \$63,050.00	\$7,000.00 \$7,200.00 \$12,000.00 \$750.00 \$200.00 \$950.00	\$154,000.00 \$280,800.00 \$12,000.00 \$1,500.00 \$25,000.00 \$21,500.00 \$1,500.00	\$6,250.00 \$7,400.00 \$14,000.00 \$1,900.00 \$135.00 \$467.00	\$137,500.00 \$288,600.00 \$14,000.00 \$3,800.00 \$16,875.00 \$101,339.00 \$31,040.00	\$6,500.00 \$7,000.00 \$9,500.00 \$3,500.00 \$150.00 \$575.00	\$143,000.00 \$273,000.00 \$9,500.00 \$7,000.00 \$18,750.00 \$124,775.00 \$55,775.00	\$5,000.00 \$6,000.00 \$8,500.00 \$3,500.00 \$300.00 \$1,000.00	\$110,000.00 \$234,000.00 \$8,500.00 \$7,000.00 \$37,500.00 \$195,300.00	\$6,300.00 \$6,500.00 \$10,000.00 \$4,100.00 \$550.00 \$900.00	\$138,600.00 \$253,500.00 \$10,000.00 \$8,200.00 \$68,750.00 \$195,300.00 \$82,450.00
64 GRINDER PUMP STA GRINDER PUMP STA 65 WITHIN THE 100-YEA 66 GRINDER PUMP STA 67 GRINDER PUMP STA 68 GRINDER PUMP SPA 68 GRINDER PUMP RISE HIGHWAY, RIVER AND RAIL JUNIATA PARKWAY/ 69 HIGHWAY CROSSING SHORTCUT ROAD/RI 70 HIGHWAY CROSSING JUNIATA RIVER AND 71 R.R CROSSING STREAM CROSSING 53 STREAM CROSSING 54 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	ATION - SIMPLEX ATION - SIMPLEX EAR FLOODPLAIN ATION - DUPLEX ARE PUMP CORES SER SECTION ILROAD CROSSINGS I/RED HILL ROAD NG RED HILL ROAD NG D NORFOLK SOUTHERN  6 #1 6 #2 I/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	39 1 2 125 217 97 1 1 1 6536 25 805	EA. EA. V.F. L.F. L.S. L.S. L.S. L.F. L.F. L.F. L	\$4,808.00 \$11,478.00 \$1,895.00 \$125.00 \$459.00 \$597.00 \$275,000.00 \$8,000.00 \$7.00 \$170.00	\$187,512.00 \$11,478.00 \$3,790.00 \$15,625.00 \$99,603.00 \$57,909.00 \$275,000.00 \$8,000.00	\$5,700.00 \$10,000.00 \$1,500.00 \$100.00 \$250.00 \$200.00 \$2,500.00	\$222,300.00 \$10,000.00 \$3,000.00 \$12,500.00 \$54,250.00 \$19,400.00 \$300,000.00	\$4,800.00 \$9,200.00 \$1,600.00 \$50.00 \$1,150.00 \$1,300.00 \$605,000.00	\$187,200.00 \$9,200.00 \$3,200.00 \$6,250.00 \$249,550.00 \$126,100.00 \$605,000.00	\$4,200.00 \$6,800.00 \$1,800.00 \$135.00 \$795.00	\$163,800.00 \$6,800.00 \$3,600.00 \$16,875.00 \$172,515.00 \$63,050.00	\$7,200.00 \$12,000.00 \$750.00 \$200.00 \$950.00 \$1,150.00	\$280,800.00 \$12,000.00 \$1,500.00 \$25,000.00 \$25,000.00 \$111,550.00	\$7,400.00 \$14,000.00 \$1,900.00 \$135.00 \$467.00 \$320.00	\$288,600.00 \$14,000.00 \$3,800.00 \$16,875.00 \$101,339.00 \$31,040.00	\$7,000.00 \$9,500.00 \$3,500.00 \$150.00 \$575.00	\$273,000.00 \$9,500.00 \$7,000.00 \$18,750.00 \$124,775.00 \$55,775.00	\$6,000.00 \$8,500.00 \$3,500.00 \$300.00 \$900.00	\$234,000.00 \$8,500.00 \$7,000.00 \$37,500.00 \$195,300.00 \$97,000.00	\$6,500.00 \$10,000.00 \$4,100.00 \$550.00 \$900.00 \$850.00	\$253,500.00 \$10,000.00 \$8,200.00 \$68,750.00 \$195,300.00 \$82,450.00
GRINDER PUMP STA  65 WITHIN THE 100-YEA  66 GRINDER PUMP STA  67 GRINDER PUMP SPA  68 GRINDER PUMP RISE  HIGHWAY, RIVER AND RAIL  JUNIATA PARKWAY/  69 HIGHWAY CROSSING  SHORTCUT ROAD/RE  70 HIGHWAY CROSSING  JUNIATA RIVER AND  71 R.R CROSSING  STREAM CROSSINGS  72 STREAM CROSSING  53 STREAM CROSSING  SURFACE RESTORATION  74 (S-1.01) VEGETATIVE  75 (S-2.11) PAVED ROA  76 (S-2.12) PAVED DRIV  (S-2.13) NEWPORT P  77 PRIVATE  (S-3.11A) CRAMER D  78 MUNICIPAL  (S-3.11B) CHURCH R	ATION - SIMPLEX EAR FLOODPLAIN ATION - DUPLEX ARE PUMP CORES SER SECTION ILROAD CROSSINGS I/RED HILL ROAD NG RED HILL ROAD NG D NORFOLK SOUTHERN  6 #1 6 #2 I/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	39 1 2 125 217 97 1 1 1 6536 25 805	EA. EA. V.F. L.F. L.S. L.S. L.S. L.F. L.F. L.F. L	\$4,808.00 \$11,478.00 \$1,895.00 \$125.00 \$459.00 \$597.00 \$275,000.00 \$8,000.00 \$7.00 \$170.00	\$187,512.00 \$11,478.00 \$3,790.00 \$15,625.00 \$99,603.00 \$57,909.00 \$275,000.00 \$8,000.00	\$5,700.00 \$10,000.00 \$1,500.00 \$100.00 \$250.00 \$200.00 \$2,500.00	\$222,300.00 \$10,000.00 \$3,000.00 \$12,500.00 \$54,250.00 \$19,400.00 \$300,000.00	\$4,800.00 \$9,200.00 \$1,600.00 \$50.00 \$1,150.00 \$1,300.00 \$605,000.00	\$187,200.00 \$9,200.00 \$3,200.00 \$6,250.00 \$249,550.00 \$126,100.00 \$605,000.00	\$4,200.00 \$6,800.00 \$1,800.00 \$135.00 \$795.00	\$163,800.00 \$6,800.00 \$3,600.00 \$16,875.00 \$172,515.00 \$63,050.00	\$7,200.00 \$12,000.00 \$750.00 \$200.00 \$950.00 \$1,150.00	\$280,800.00 \$12,000.00 \$1,500.00 \$25,000.00 \$25,000.00 \$111,550.00	\$7,400.00 \$14,000.00 \$1,900.00 \$135.00 \$467.00 \$320.00	\$288,600.00 \$14,000.00 \$3,800.00 \$16,875.00 \$101,339.00 \$31,040.00	\$7,000.00 \$9,500.00 \$3,500.00 \$150.00 \$575.00	\$273,000.00 \$9,500.00 \$7,000.00 \$18,750.00 \$124,775.00 \$55,775.00	\$6,000.00 \$8,500.00 \$3,500.00 \$300.00 \$900.00	\$234,000.00 \$8,500.00 \$7,000.00 \$37,500.00 \$195,300.00 \$97,000.00	\$6,500.00 \$10,000.00 \$4,100.00 \$550.00 \$900.00 \$850.00	\$253,500.00 \$10,000.00 \$8,200.00 \$68,750.00 \$195,300.00 \$82,450.00
65 WITHIN THE 100-YEA 66 GRINDER PUMP STA 67 GRINDER PUMP SPA 68 GRINDER PUMP RISE HIGHWAY, RIVER AND RAIL JUNIATA PARKWAY/ 69 HIGHWAY CROSSING SHORTCUT ROAD/RE 70 HIGHWAY CROSSING JUNIATA RIVER AND 71 R.R CROSSING STREAM CROSSING 53 STREAM CROSSING 54 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	EAR FLOODPLAIN ATION - DUPLEX PARE PUMP CORES SER SECTION ILROAD CROSSINGS I/RED HILL ROAD NG RED HILL ROAD NG D NORFOLK SOUTHERN  6 #1 6 #2 I/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	1 2 125 217 97 1 1 1 1 6536 25 805	EA. EA. V.F. L.F. L.S. L.S. L.S. L.F. L.F. L.F. L	\$11,478.00 \$1,895.00 \$125.00 \$459.00 \$597.00 \$275,000.00 \$8,000.00 \$7.00 \$170.00	\$11,478.00 \$3,790.00 \$15,625.00 \$99,603.00 \$57,909.00 \$275,000.00 \$8,000.00	\$10,000.00 \$1,500.00 \$100.00 \$250.00 \$200.00 \$2,500.00	\$10,000.00 \$3,000.00 \$12,500.00 \$54,250.00 \$19,400.00 \$300,000.00	\$9,200.00 \$1,600.00 \$50.00 \$1,150.00 \$1,300.00 \$605,000.00	\$9,200.00 \$3,200.00 \$6,250.00 \$249,550.00 \$126,100.00 \$605,000.00	\$6,800.00 \$1,800.00 \$135.00 \$795.00 \$650.00	\$6,800.00 \$3,600.00 \$16,875.00 \$172,515.00 \$63,050.00	\$12,000.00 \$750.00 \$200.00 \$950.00 \$1,150.00	\$12,000.00 \$1,500.00 \$25,000.00 \$206,150.00 \$111,550.00	\$14,000.00 \$1,900.00 \$135.00 \$467.00 \$320.00	\$14,000.00 \$3,800.00 \$16,875.00 \$101,339.00 \$31,040.00	\$9,500.00 \$3,500.00 \$150.00 \$575.00	\$9,500.00 \$7,000.00 \$18,750.00 \$124,775.00 \$55,775.00	\$8,500.00 \$3,500.00 \$300.00 \$900.00	\$8,500.00 \$7,000.00 \$37,500.00 \$195,300.00 \$97,000.00	\$10,000.00 \$4,100.00 \$550.00 \$900.00 \$850.00	\$10,000.00 \$8,200.00 \$68,750.00 \$195,300.00 \$82,450.00
66 GRINDER PUMP STA 67 GRINDER PUMP SPA 68 GRINDER PUMP RISE HIGHWAY, RIVER AND RAILE JUNIATA PARKWAY/ 69 HIGHWAY CROSSING SHORTCUT ROAD/RI 70 HIGHWAY CROSSING JUNIATA RIVER AND 71 R.R CROSSING STREAM CROSSING 72 STREAM CROSSING 73 STREAM CROSSING 74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	ATION - DUPLEX PARE PUMP CORES SER SECTION ILROAD CROSSINGS I/RED HILL ROAD NG RED HILL ROAD NG D NORFOLK SOUTHERN  6 #1 6 #2 I/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	1 2 125 217 97 1 1 1 1 6536 25 805	EA. EA. V.F. L.F. L.S. L.S. L.S. L.F. L.F. L.F. L	\$11,478.00 \$1,895.00 \$125.00 \$459.00 \$597.00 \$275,000.00 \$8,000.00 \$7.00 \$170.00	\$11,478.00 \$3,790.00 \$15,625.00 \$99,603.00 \$57,909.00 \$275,000.00 \$8,000.00	\$10,000.00 \$1,500.00 \$100.00 \$250.00 \$200.00 \$2,500.00	\$10,000.00 \$3,000.00 \$12,500.00 \$54,250.00 \$19,400.00 \$300,000.00	\$9,200.00 \$1,600.00 \$50.00 \$1,150.00 \$1,300.00 \$605,000.00	\$9,200.00 \$3,200.00 \$6,250.00 \$249,550.00 \$126,100.00 \$605,000.00	\$6,800.00 \$1,800.00 \$135.00 \$795.00 \$650.00	\$6,800.00 \$3,600.00 \$16,875.00 \$172,515.00 \$63,050.00	\$12,000.00 \$750.00 \$200.00 \$950.00 \$1,150.00	\$12,000.00 \$1,500.00 \$25,000.00 \$206,150.00 \$111,550.00	\$14,000.00 \$1,900.00 \$135.00 \$467.00 \$320.00	\$14,000.00 \$3,800.00 \$16,875.00 \$101,339.00 \$31,040.00	\$9,500.00 \$3,500.00 \$150.00 \$575.00	\$9,500.00 \$7,000.00 \$18,750.00 \$124,775.00 \$55,775.00	\$8,500.00 \$3,500.00 \$300.00 \$900.00	\$8,500.00 \$7,000.00 \$37,500.00 \$195,300.00 \$97,000.00	\$10,000.00 \$4,100.00 \$550.00 \$900.00 \$850.00	\$10,000.00 \$8,200.00 \$68,750.00 \$195,300.00 \$82,450.00
67 GRINDER PUMP SPA 68 GRINDER PUMP RISE HIGHWAY, RIVER AND RAILE JUNIATA PARKWAY/ 69 HIGHWAY CROSSING SHORTCUT ROAD/RI 70 HIGHWAY CROSSING JUNIATA RIVER AND 71 R.R CROSSING STREAM CROSSINGS 72 STREAM CROSSING 73 STREAM CROSSING 53 STREAM CROSSING 74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	ARE PUMP CORES SER SECTION ILROAD CROSSINGS I/RED HILL ROAD NG RED HILL ROAD NG D NORFOLK SOUTHERN  6 #1 6 #2 I/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	2 125 217 97 1 1 1 1 6536 25 805	EA. V.F.  L.F.  L.S.  L.S.  L.S.  L.S.  L.F.  L.F.	\$1,895.00 \$125.00 \$459.00 \$597.00 \$275,000.00 \$8,000.00 \$7.00 \$170.00	\$3,790.00 \$15,625.00 \$99,603.00 \$57,909.00 \$275,000.00 \$8,000.00	\$1,500.00 \$100.00 \$250.00 \$200.00 \$300,000.00 \$2,500.00	\$3,000.00 \$12,500.00 \$54,250.00 \$19,400.00 \$300,000.00	\$1,600.00 \$50.00 \$1,150.00 \$1,300.00 \$605,000.00	\$3,200.00 \$6,250.00 \$249,550.00 \$126,100.00 \$605,000.00	\$1,800.00 \$135.00 \$795.00 \$650.00	\$3,600.00 \$16,875.00 \$172,515.00 \$63,050.00	\$750.00 \$200.00 \$950.00 \$1,150.00	\$1,500.00 \$25,000.00 \$206,150.00 \$111,550.00	\$1,900.00 \$135.00 \$467.00 \$320.00	\$3,800.00 \$16,875.00 \$101,339.00 \$31,040.00	\$3,500.00 \$150.00 \$575.00 \$575.00	\$7,000.00 \$18,750.00 \$124,775.00 \$55,775.00	\$3,500.00 \$300.00 \$900.00 \$1,000.00	\$7,000.00 \$37,500.00 \$195,300.00 \$97,000.00	\$4,100.00 \$550.00 \$900.00 \$850.00	\$8,200.00 \$68,750.00 \$195,300.00 \$82,450.00
68 GRINDER PUMP RISE HIGHWAY, RIVER AND RAIL JUNIATA PARKWAY/ 69 HIGHWAY CROSSING SHORTCUT ROAD/RI 70 HIGHWAY CROSSING JUNIATA RIVER AND 71 R.R CROSSING STREAM CROSSINGS 72 STREAM CROSSING 3 73 STREAM CROSSING 5 74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	SER SECTION ILROAD CROSSINGS I/RED HILL ROAD NG RED HILL ROAD NG D NORFOLK SOUTHERN  6 #1 6 #2 I/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	125 217 97 1 1 1 1 6536 25 805	L.F. L.S. L.S. L.S. L.S. L.S. L.F.	\$125.00 \$459.00 \$597.00 \$275,000.00 \$8,000.00 \$7.00 \$170.00	\$15,625.00 \$99,603.00 \$57,909.00 \$275,000.00 \$8,000.00	\$100.00 \$250.00 \$200.00 \$300,000.00 \$2,500.00	\$12,500.00 \$54,250.00 \$19,400.00 \$300,000.00 \$2,500.00	\$50.00 \$1,150.00 \$1,300.00 \$605,000.00 \$6,500.00	\$6,250.00 \$249,550.00 \$126,100.00 \$605,000.00	\$135.00 \$795.00 \$650.00	\$16,875.00 \$172,515.00 \$63,050.00	\$200.00 \$950.00 \$1,150.00	\$25,000.00 \$206,150.00 \$111,550.00	\$135.00 \$467.00 \$320.00	\$16,875.00 \$101,339.00 \$31,040.00	\$150.00 \$575.00 \$575.00	\$18,750.00 \$124,775.00 \$55,775.00	\$300.00	\$37,500.00 \$195,300.00 \$97,000.00	\$550.00 \$900.00 \$850.00	\$68,750.00 \$195,300.00 \$82,450.00
HIGHWAY, RIVER AND RAIL  JUNIATA PARKWAY/ 69 HIGHWAY CROSSING SHORTCUT ROAD/RI 70 HIGHWAY CROSSING JUNIATA RIVER AND 71 R.R CROSSING  STREAM CROSSINGS 72 STREAM CROSSING 3 73 STREAM CROSSING 6 5URFACE RESTORATION 74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	ILROAD CROSSINGS I//RED HILL ROAD ING RED HILL ROAD ING	217 97 1 1 1 1 6536 25 805	L.F. L.S. L.S. L.S. L.S. L.S. L.F.	\$459.00 \$597.00 \$275,000.00 \$8,000.00 \$8,000.00 \$170.00	\$99,603.00 \$57,909.00 \$275,000.00 \$8,000.00 \$8,000.00	\$250.00 \$200.00 \$300,000.00 \$2,500.00	\$54,250.00 \$19,400.00 \$300,000.00 \$2,500.00	\$1,150.00 \$1,300.00 \$605,000.00 \$6,500.00	\$249,550.00 \$126,100.00 \$605,000.00	\$795.00 \$650.00	\$172,515.00 \$63,050.00	\$950.00 \$1,150.00	\$206,150.00 \$111,550.00	\$467.00 \$320.00	\$101,339.00 \$31,040.00	\$575.00 \$575.00	\$124,775.00 \$55,775.00	\$900.00	\$195,300.00 \$97,000.00	\$900.00	\$195,300.00 \$82,450.00
JUNIATA PARKWAY/ 69 HIGHWAY CROSSING SHORTCUT ROAD/RI 70 HIGHWAY CROSSING JUNIATA RIVER AND 71 R.R CROSSING STREAM CROSSING 72 STREAM CROSSING 73 STREAM CROSSING 74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	I/RED HILL ROAD NG RED HILL ROAD NG D NORFOLK SOUTHERN  6 #1 6 #2 I/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	97 1 1 1 6536 25 805	L.F. L.S. L.S. L.S. L.F. L.F.	\$597.00 \$275,000.00 \$8,000.00 \$8,000.00 \$7.00 \$170.00	\$57,909.00 \$275,000.00 \$8,000.00 \$8,000.00	\$200.00 \$300,000.00 \$2,500.00	\$19,400.00 \$300,000.00 \$2,500.00	\$1,300.00 \$605,000.00 \$6,500.00	\$126,100.00 \$605,000.00	\$650.00	\$63,050.00	\$1,150.00	\$111,550.00	\$320.00	\$31,040.00	\$575.00	\$55,775.00	\$1,000.00	\$97,000.00	\$850.00	\$82,450.00
69 HIGHWAY CROSSING SHORTCUT ROAD/RI 70 HIGHWAY CROSSING JUNIATA RIVER AND 71 R.R CROSSING STREAM CROSSING 72 STREAM CROSSING 73 STREAM CROSSING 74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	NG RED HILL ROAD NG D NORFOLK SOUTHERN 6 #1 6 #2 //E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	97 1 1 1 6536 25 805	L.F. L.S. L.S. L.S. L.F. L.F.	\$597.00 \$275,000.00 \$8,000.00 \$8,000.00 \$7.00 \$170.00	\$57,909.00 \$275,000.00 \$8,000.00 \$8,000.00	\$200.00 \$300,000.00 \$2,500.00	\$19,400.00 \$300,000.00 \$2,500.00	\$1,300.00 \$605,000.00 \$6,500.00	\$126,100.00 \$605,000.00	\$650.00	\$63,050.00	\$1,150.00	\$111,550.00	\$320.00	\$31,040.00	\$575.00	\$55,775.00	\$1,000.00	\$97,000.00	\$850.00	\$82,450.00
SHORTCUT ROAD/RI TO HIGHWAY CROSSING JUNIATA RIVER AND R.R CROSSING STREAM CROSSING TO STREAM CROSSING SURFACE RESTORATION TO (S-1.01) VEGETATIVE TO (S-2.11) PAVED ROA TO (S-2.12) PAVED DRIVE (S-2.13) NEWPORT PORIVATE (S-3.11A) CRAMER DO MUNICIPAL (S-3.11B) CHURCH R	RED HILL ROAD NG D NORFOLK SOUTHERN 6 #1 6 #2 //E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	97 1 1 1 6536 25 805	L.F. L.S. L.S. L.S. L.F. L.F.	\$597.00 \$275,000.00 \$8,000.00 \$8,000.00 \$7.00 \$170.00	\$57,909.00 \$275,000.00 \$8,000.00 \$8,000.00	\$200.00 \$300,000.00 \$2,500.00	\$19,400.00 \$300,000.00 \$2,500.00	\$1,300.00 \$605,000.00 \$6,500.00	\$126,100.00 \$605,000.00	\$650.00	\$63,050.00	\$1,150.00	\$111,550.00	\$320.00	\$31,040.00	\$575.00	\$55,775.00	\$1,000.00	\$97,000.00	\$850.00	\$82,450.00
70 HIGHWAY CROSSING JUNIATA RIVER AND 71 R.R CROSSING STREAM CROSSING 72 STREAM CROSSING 73 STREAM CROSSING 74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	NG D NORFOLK SOUTHERN 6 #1 6 #2 //E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	1 1 1 6536 25 805	L.S. L.S. L.F. L.F.	\$275,000.00 \$8,000.00 \$8,000.00 \$7.00 \$170.00	\$275,000.00 \$8,000.00 \$8,000.00	\$300,000.00	\$300,000.00	\$605,000.00	\$605,000.00		. ,			·		·					
JUNIATA RIVER AND 71 R.R CROSSING STREAM CROSSINGS 72 STREAM CROSSING 73 STREAM CROSSING 74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	D NORFOLK SOUTHERN  6 #1 6 #2  /E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	1 1 1 6536 25 805	L.S. L.S. L.F. L.F.	\$275,000.00 \$8,000.00 \$8,000.00 \$7.00 \$170.00	\$275,000.00 \$8,000.00 \$8,000.00	\$300,000.00	\$300,000.00	\$605,000.00	\$605,000.00		. ,			·		·					
STREAM CROSSINGS  72 STREAM CROSSING (CONTROL OF CONTROL OF CONTRO	/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	6536 25 805	L.S. L.S.	\$8,000.00 \$8,000.00 \$7.00 \$170.00	\$8,000.00	\$2,500.00	\$2,500.00	\$6,500.00		\$335,500.00	\$335,500.00	\$340,000.00	\$340,000.00	\$267,000.00	\$267,000.00	\$225,000.00	\$225,000.00	\$450,000.00	\$450,000.00	\$655,000.00	\$655,000.00
72 STREAM CROSSING (Control of the control of the c	/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	6536 25 805	L.F. L.F.	\$8,000.00 \$7.00 \$170.00	\$8,000.00				¢6 E00 00												
73 STREAM CROSSING (SURFACE RESTORATION) 74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	6536 25 805	L.F. L.F.	\$8,000.00 \$7.00 \$170.00	\$8,000.00				¢6 E00 00						•	·					
SURFACE RESTORATION  74 (S-1.01) VEGETATIVE  75 (S-2.11) PAVED ROA  76 (S-2.12) PAVED DRIV  (S-2.13) NEWPORT P  77 PRIVATE  (S-3.11A) CRAMER D  78 MUNICIPAL  (S-3.11B) CHURCH R	/E RESTORATION AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	6536 25 805	L.F. L.F.	\$7.00 \$170.00	. ,	\$2,500.00	\$2,500.00		ο,500.00	\$12,000.00	\$12,000.00	\$7,500.00	\$7,500.00	\$6,800.00	\$6,800.00	\$8,500.00	\$8,500.00	\$20,000.00	\$20,000.00	\$7,500.00	\$7,500.00
74 (S-1.01) VEGETATIVE 75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	25 805	L.F.	\$170.00	\$45,752.00		T =,555.50	\$6,500.00	\$6,500.00	\$12,000.00	\$12,000.00	\$7,500.00	\$7,500.00	\$6,800.00	\$6,800.00	\$8,500.00	\$8,500.00	\$20,000.00	\$20,000.00	\$8,000.00	\$8,000.00
75 (S-2.11) PAVED ROA 76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	AD - PRIVATE IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	25 805	L.F.	\$170.00	\$45,752.00																
76 (S-2.12) PAVED DRIV (S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	IVEWAY - PRIVATE PLAZA PARKING AREA - DRIVE PAVED ROAD -	805			4	\$1.00	\$6,536.00	\$5.75	\$37,582.00	\$8.00	\$52,288.00	\$7.00	\$45,752.00	\$7.00	\$45,752.00	\$4.00	\$26,144.00	\$5.00	\$32,680.00	\$6.85	· · ·
(S-2.13) NEWPORT P 77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	PLAZA PARKING AREA - DRIVE PAVED ROAD -		L.F.		\$4,250.00	\$60.00	\$1,500.00	\$35.00	\$875.00	\$38.00	\$950.00	\$25.00	\$625.00	\$30.00	\$750.00	\$52.00	\$1,300.00	\$22.00	\$550.00	\$63.00	
77 PRIVATE (S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R	DRIVE PAVED ROAD -	922		\$36.00	\$28,980.00	\$10.00	\$8,050.00	\$25.00	\$20,125.00	\$38.00	\$30,590.00	\$25.00	\$20,125.00	\$30.00	\$24,150.00	\$56.00	\$45,080.00	\$22.00	\$17,710.00	\$41.00	\$33,005.00
(S-3.11A) CRAMER D 78 MUNICIPAL (S-3.11B) CHURCH R		322	L.F.	\$33.00	\$30,426.00	\$10.00	\$9,220.00	\$25.00	\$23,050.00	\$38.00	\$35,036.00	\$32.00	\$29,504.00	\$36.00	\$33,192.00	\$56.00	\$51,632.00	\$25.00	\$23,050.00	\$45.00	\$41,490.00
78 MUNICIPAL (S-3.11B) CHURCH R			L.11.	Ş33.00	\$30,420.00	\$10.00	\$3,220.00	Ş23.00	\$23,030.00	Ç38.00	\$35,030.00	\$32.00	\$25,504.00	\$30.00	Ç33,192.00	\$30.00	\$31,032.00	\$25.00	\$23,030.00	Ç45.00	541,430.00
(S-3.11B) CHURCH R	DOAD DAVED DOAD	25	L.F.	\$120.00	\$3,000.00	\$75.00	\$1,875.00	\$35.00	\$875.00	\$42.00	\$1,050.00	\$32.00	\$800.00	\$36.00	\$900.00	\$56.00	\$1,400.00	\$50.00	\$1,250.00	\$108.00	\$2,700.00
79 MUNICIPAL	ROAD PAVED ROAD -			7-2-0	42,223.55	71000	+=/=:=:==	700.00	70.000	7 .=.55	+=/	702.00	700000	700.00	700000	720.00	7=, :00:00	70000	<del>+ -/</del>	72000	72/100100
		29	L.F.	\$124.00	\$3,596.00	\$75.00	\$2,175.00	\$35.00	\$1,015.00	\$48.00	\$1,392.00	\$40.00	\$1,160.00	\$37.00	\$1,073.00	\$56.00	\$1,624.00	\$50.00	\$1,450.00	\$108.00	\$3,132.00
(S-3.11C) NEWPORT	T BOROUGH PAVED																				
80 ROAD - MUNICIPAL	L	50	L.F.	\$120.00	\$6,000.00	\$100.00	\$5,000.00	\$35.00	\$1,750.00	\$42.00	\$2,100.00	\$40.00	\$2,000.00	\$36.00	\$1,800.00	\$58.00	\$2,900.00	\$50.00	\$2,500.00	\$108.00	\$5,400.00
(S-2.21) IMPROVED																					
81 DRIVEWAY, PARKING		829	L.F.	\$16.50	\$13,678.50	\$5.00	\$4,145.00	\$2.25	\$1,865.25	\$38.00	\$31,502.00	\$10.00	\$8,290.00	\$34.00	\$28,186.00	\$36.00	\$29,844.00	\$35.00	\$29,015.00	\$28.50	\$23,626.50
, ,	VED SURFACE, ROAD,	244		<b>†</b> 0.00	ć2 <b>7</b> 00 00	¢2.00	6022.00	<b>42.25</b>	¢600 75	40.50	62.642.50	640.00	62.440.00	624.00	640 574 00	ć22.00	¢6.042.00	¢40.00	62.440.00	<b>624</b> 00	åc 524 00
82 DRIVEWAY, PARKING (S-4.01A) S.R. 0034 E		311	L.F.	\$9.00	\$2,799.00	\$3.00	\$933.00	\$2.25	\$699.75	\$8.50	\$2,643.50	\$10.00	\$3,110.00	\$34.00	\$10,574.00	\$22.00	\$6,842.00	\$10.00	\$3,110.00	\$21.00	\$6,531.00
83 PENNDOT	BASE COURSE -	87	L.F.	\$92.00	\$8,004.00	\$125.00	\$10,875.00	\$35.00	\$3,045.00	\$38.00	\$3,306.00	\$100.00	\$8,700.00	\$45.00	\$3,915.00	\$75.00	\$6,525.00	\$50.00	\$4,350.00	\$167.00	\$14,529.00
(S-4.01B) S.R. 1015 (	(SEG 0110) BASE	87	L.I .	\$92.00	38,004.00	\$123.00	\$10,873.00	\$33.00	\$3,045.00	Ş38.00	\$3,300.00	\$100.00	\$8,700.00	343.00	\$3,913.00	\$73.00	\$0,323.00	\$30.00	34,330.00	\$107.00	\$14,329.00
84 COURSE - PENNDOT	'	90	L.F.	\$168.00	\$15,120.00	\$150.00	\$13,500.00	\$35.00	\$3,150.00	\$52.00	\$4,680.00	\$120.00	\$10,800.00	\$55.00	\$4,950.00	\$80.00	\$7,200.00	\$50.00	\$4,500.00	\$193.00	\$17,370.00
(S-4.01C) S.R. 1015 (	(SEG 0120) BASE			,	, , , , , , , , , , , , , , , , , , , ,	,	, -,	,	, -,	,	1 /	, , , , , ,	, ,,,,,,,,	,	, ,	,	, ,	,	1 /	,	, , , , , , , , , , , , , , , , , , , ,
85 BINDER COURSES - F	PENNDOT	45	L.F.	\$168.00	\$7,560.00	\$175.00	\$7,875.00	\$52.00	\$2,340.00	\$50.00	\$2,250.00	\$150.00	\$6,750.00	\$60.00	\$2,700.00	\$95.00	\$4,275.00	\$30.00	\$1,350.00	\$230.00	\$10,350.00
(S-4.01D) S.R. 1017 E	BASE COURSE -																				
86 PENNDOT		157	L.F.	\$101.00	\$15,857.00	\$100.00	\$15,700.00	\$35.00	\$5,495.00	\$42.00	\$6,594.00	\$100.00	\$15,700.00	\$60.00	\$9,420.00	\$85.00	\$13,345.00	\$50.00	\$7,850.00	\$185.00	\$29,045.00
87 (S-4.01A) WEARING	COURSE - PENNOOT	1320	S.Y.	\$14.50	\$19,140.00	\$15.00	\$19,800.00	\$13.00	\$17,160.00	\$12.00	\$15,840.00	\$20.00	\$26,400.00	\$42.00	\$55,440.00	\$45.00	\$59,400.00	\$15.00	\$19,800.00	\$50.00	\$66,000.00
O/ (O T.OIA) WLANING	S COORSE I ENNOOT	1320	5.1.	714.30	719,140.00	713.00	713,000.00	Ş13.00	\$17,100.00	712.00	713,040.00	\$20.00	720,400.00	۷4.0U	,,440.00	<del>у4</del> 5.00	₹39,400.00	\$15.00	Ç19,600.00	00.00	500,000.00
88 (S-4.01B-D) WEARIN	NG COURSE - PENNDOT	1349	S.Y.	\$14.50	\$19,560.50	\$15.00	\$20,235.00	\$13.00	\$17,537.00	\$12.00	\$16,188.00	\$20.00	\$26,980.00	\$42.00	\$56,658.00	\$46.00	\$62,054.00	\$15.00	\$20,235.00	\$50.00	\$67,450.00
(S-4.02A) S.R. 0034 F				,	, -,	, ==:=3	, 1,22120	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	, :,=:::50	,	, :,:::::	, .=.50	, = =,====	70	, : ,::::0	7-2:30	, :,====	,,,,,,,,,,	, , , , , , , , , , , ,
89 PENNDOT		4169	S.Y.	\$31.00	\$129,239.00	\$38.00	\$158,422.00	\$15.00	\$62,535.00	\$51.00	\$212,619.00	\$55.00	\$229,295.00	\$62.00	\$258,478.00	\$75.00	\$312,675.00	\$45.00	\$187,605.00	\$81.00	\$337,689.00
(S-4.02B) S.R. 1015 (	(SEG 0110/0120) PAVED																				
90 SHOULDER - PENND	DOT	58	S.Y.	\$65.00	\$3,770.00	\$50.00	\$2,900.00	\$15.00	\$870.00	\$51.00	\$2,958.00	\$20.00	\$1,160.00	\$62.00	\$3,596.00	\$80.00	\$4,640.00	\$50.00	\$2,900.00	\$98.00	\$5,684.00
(S-4.02C) S.R. 1015 (	,																				
91 SHOULDER - PENND		33	S.Y.	\$119.00	\$3,927.00	\$100.00	\$3,300.00	\$15.00	\$495.00	\$51.00	\$1,683.00	\$65.00	\$2,145.00	\$62.00	\$2,046.00	\$75.00	\$2,475.00	\$50.00	\$1,650.00	\$98.00	\$3,234.00
(S-4.03) UNIMPROVI	VED SHOULDER -	710	, -	630.00	614 200 00	64.00	6740.00	66.00	¢4.300.00	60.50	¢c 025 02	640.00	67.400.00	640.00	620 400 00	642.00	620.020.00	620.00	624 200 00	633.00	622 722 02
92 PENNDOT 93 MILLING - 2" AND LE	ECC	710	L.F.	\$20.00 \$8.25	\$14,200.00 \$18,810.00	\$1.00 \$3.00	\$710.00 \$6,840.00	\$6.00 \$6.00	\$4,260.00 \$13,680.00	\$8.50 \$6.25	\$6,035.00	\$10.00	\$7,100.00 \$11,400.00	\$40.00 \$16.50	\$28,400.00	\$42.00 \$6.50	\$29,820.00	\$30.00 \$5.00	\$21,300.00 \$11,400.00	\$32.00 \$15.00	
TEMPORARY ASPHA		2280	S.Y.	\$8. <b>2</b> 5	\$18,810.00	\$3.00	40.00,840.00	\$0.00	00.υδσ,ετς	\$0.25	\$14,250.00	\$5.00	ş11,4UU.UU	\$10.50	\$37,620.00	\$b.5U	\$14,820.00	\$5.00	\$11,400.00	\$15.00	\$34,200.00
94 RESTORATION	ALI JOHI ACE	4900	L.F.	\$21.00	\$102,900.00	\$5.00	\$24,500.00	\$11.00	\$53,900.00	\$10.00	\$49,000.00	\$8.00	\$39,200.00	\$14.00	\$68,600.00	\$10.00	\$49,000.00	\$5.00	\$24,500.00	\$4.25	\$20,825.00
95 CONCRETE CURB RE	ESTORATION	186	L.F.	\$31.00	\$5,766.00	\$50.00	\$9,300.00	\$62.00	\$11,532.00	\$45.00	\$8,370.00	\$60.00	\$11,160.00	\$122.00	\$22,692.00	\$65.00	\$12,090.00	\$50.00	\$9,300.00	\$48.00	
PENNDOT PLOW GU				Ç52.00	+3,, 55.00	φ33.00	75,550.00	Ç02.00	, 11,00 <b>2</b> .00	Ç .5.00	75,576.00	\$50.00	+11,100.00	Ç	,,oooo	Ç33.00	+ = <b>=</b> ,030.00	<del>+30.00</del>	45,550.00	Ç .0.00	70,520.00
96 WEDGE		7	EA.	\$1,286.00	\$9,002.00	\$100.00	\$700.00	\$800.00	\$5,600.00	\$950.00	\$6,650.00	\$500.00	\$3,500.00	\$1,548.00	\$10,836.00	\$1,200.00	\$8,400.00	\$2,500.00	\$17,500.00	\$5,200.00	\$36,400.00
97 MILLED RUMBLE STE	TRIP	4025	L.F.	\$0.95	\$3,823.75	\$1.00	\$4,025.00	\$1.40	\$5,635.00	\$5.00	\$20,125.00	\$4.00	\$16,100.00	\$7.00	\$28,175.00	\$12.00	\$48,300.00	\$3.00	\$12,075.00	\$1.70	

												Joao Bradley Construction Co.,		T				T			
		Estimated	Unit Of	Sippel Development, Inc.		DOLI Construction Corporation		G R Charles Excavating Ltd.		R-III Construction Inc		•	nc.	Greenland Cor	struction, Inc.	Continental Con	struction, Inc.	PACT O	PACT ONE, LLC		ich,Inc.
NO.	Description	Quantity	Measure	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension	Unit Cost	Extension
MISCEL	LANEOUS																				
98	CONCRETE CRADLE FOR 36" STORM SEWER	2	EA.	\$1,742.00	\$3,484.00	\$100.00	\$200.00	\$1,250.00	\$2,500.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$723.00	\$1,446.00	\$3,500.00	\$7,000.00	\$1,000.00	\$2,000.00	\$990.00	\$1,980.00
99	CONCRETE CRADLE FOR 48" STORM SEWER	2	EA.	\$2,011.00	\$4,022.00	\$100.00	\$200.00	\$1,500.00	\$3,000.00	\$1,800.00	\$3,600.00	\$750.00	\$1,500.00	\$942.00	\$1,884.00	\$4,500.00	\$9,000.00	\$1,500.00	\$3,000.00	\$1,600.00	\$3,200.00
100	CONCRETE CRADLE FOR 60" STORM SEWER	2	EA.	\$2,344.00	\$4,688.00	\$100.00	\$200.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$1,000.00	\$2,000.00	\$1,245.00	\$2,490.00	\$6,500.00	\$13,000.00	\$5,000.00	\$10,000.00	\$2,800.00	\$5,600.00
101	CLAY DIKE	35	EA.	\$278.00	\$9,730.00	\$10.00	\$350.00	\$300.00	\$10,500.00	\$275.00	\$9,625.00	\$100.00	\$3,500.00	\$564.00	\$19,740.00	\$450.00	\$15,750.00	\$300.00	\$10,500.00	\$880.00	\$30,800.00
	12" RCP DRIVEWAY DRAINAGE PIPE																				
102	REPLACEMENT	45	L.F.	\$76.50	\$3,442.50	\$45.00	\$2,025.00	\$95.00	\$4,275.00	\$55.00	\$2,475.00	\$40.00	\$1,800.00	\$52.00	\$2,340.00	\$65.00	\$2,925.00	\$100.00	\$4,500.00	\$50.00	\$2,250.00
	15" RCP DRIVEWAY DRAINAGE PIPE																				
103	REPLACEMENT	45	L.F.	\$87.00	\$3,915.00	\$45.00	\$2,025.00	\$110.00	\$4,950.00	\$65.00	\$2,925.00	\$45.00	\$2,025.00	\$61.00	\$2,745.00	\$75.00	\$3,375.00	\$120.00	\$5,400.00	\$50.00	\$2,250.00
	18" RCP DRIVEWAY DRAINAGE PIPE																				
104	REPLACEMENT	45	L.F.	\$99.00	\$4,455.00	\$45.00	\$2,025.00	\$125.00	\$5,625.00	\$75.00	\$3,375.00	\$50.00	\$2,250.00	\$71.00	\$3,195.00	\$85.00	\$3,825.00	\$150.00	\$6,750.00	\$54.00	\$2,430.00
	12" SLCPP DRIVEWAY DRAINAGE PIPE									_		_			_	_		_		_	
105	REPLACEMENT	44	L.F.	\$61.00	\$2,684.00	\$45.00	\$1,980.00	\$49.00	\$2,156.00	\$45.00	\$1,980.00	\$35.00	\$1,540.00	\$35.00	\$1,540.00	\$45.00	\$1,980.00	\$80.00	\$3,520.00	\$37.00	\$1,628.00
	15" SLCPP DRIVEWAY DRAINAGE PIPE				4	4			4	4		4		4					4		
106	REPLACEMENT	15	L.F.	\$72.00	\$1,080.00	\$45.00	\$675.00	\$52.00	\$780.00	\$56.00	\$840.00	\$40.00	\$600.00	\$42.00	\$630.00	\$55.00	\$825.00	\$100.00	\$1,500.00	\$40.00	\$600.00
40-	18" SLCPP DRIVEWAY DRAINAGE PIPE			404.00	40.547.00	4.5.00	40.000.00	45= 00	40.00=.00	4== 00	40.0==.00	4.5.00	40.00=.00	4=0.00	42.040.00	45= 00	40.00=.00	440000	4= 400 00	4.= 00	40.445.00
	REPLACEMENT	45	L.F.	\$81.00	\$3,645.00	\$45.00	\$2,025.00	\$65.00	\$2,925.00	\$75.00	\$3,375.00	\$45.00	\$2,025.00	\$52.00	\$2,340.00	\$65.00	\$2,925.00	\$120.00	\$5,400.00	\$47.00	\$2,115.00
108	LOCATION/I.D. SIGN	1	EA.	\$265.00	\$265.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$250.00	\$250.00	\$788.00	\$788.00	\$350.00	\$350.00	\$4,000.00	\$4,000.00	\$530.00	\$530.00
400	PROCURE SPARE WASTEWATER	2		ć724 00	ć4 442 00	ć4 F00 00	¢2.000.00	64 700 00	¢2.400.00	ć5 500 00	644 000 00	ć4 F00 00	¢2 000 00	ć4 525 00	¢2.050.00	<b>42 500 00</b>	<b>45.000.00</b>	¢2.000.00	¢6,000,00	<b>ć2</b> 000 00	<b>64 000 00</b>
109	COMBINATION AIR VALVE	2	EA.	\$721.00	\$1,442.00	\$1,500.00	\$3,000.00	\$1,700.00	\$3,400.00	\$5,500.00	\$11,000.00	\$1,500.00	\$3,000.00	\$1,525.00	\$3,050.00	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00
110	DDOCLIDE TDACED WIDE LOCATING SYSTEM	1		ć555 00	ć=== 00	¢4.664.50	Ć4 CC4 F0	¢5 (00 00	¢5 600 00	ć25 000 00	ć2F 000 00	¢2 500 00	¢2 500 00	ć 4 700 00	ć 4 <b>7</b> 00 00	¢10,000,00	Ć10 000 00	ć10 000 00	¢10 000 00	¢20,000,00	¢20,000,00
110	PROCURE TRACER WIRE LOCATING SYSTEM	T	L.S.	\$555.00	\$555.00	\$4,661.50	\$4,661.50	\$5,600.00	\$5,600.00	\$25,000.00	\$25,000.00	\$3,500.00	\$3,500.00	\$4,700.00	\$4,700.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
111	ADDITIONAL UNCLASSIFIED EXCAVATION	100	C.Y.	\$28.00	\$2.800.00	\$25.00	\$2.500.00	\$21.00	\$2,100.00	\$35.00	\$3.500.00	\$25.00	\$2.500.00	\$46.00	\$4.600.00	\$60.00	\$6.000.00	\$50.00	\$5.000.00	\$85.00	\$8.500.00
111	UNSUITABLE BEARING MATERIAL	100	C.1.	\$28.00	\$2,800.00	\$25.00	\$2,500.00	\$21.00	\$2,100.00	\$35.00	\$3,500.00	\$25.00	\$2,500.00	\$46.00	\$4,600.00	\$60.00	\$6,000.00	\$50.00	\$5,000.00	\$85.00	\$8,500.00
112	REPLACEMENT	100	C.Y.	\$68.00	\$6,800.00	\$25.00	\$2,500.00	\$51.00	\$5,100.00	\$65.00	\$6,500.00	\$30.00	\$3.000.00	\$81.00	\$8,100.00	\$65.00	\$6,500.00	\$30.00	\$3.000.00	\$91.00	\$9,100.00
	ADDITIONAL AGGREGATE BACKFILL	240	TON	\$14.00	\$3,360.00	\$15.00	\$3,600.00	\$35.00	\$8,400.00	\$18.00	\$4,320.00	\$25.00	\$6,000.00	\$42.50	\$10,200.00	\$65.00	\$15,600.00	\$30.00	\$7,200.00	\$16.00	\$3,840.00
113	ADDITIONAL AGGILLATE BACKITEE	240	1011	714.00	73,300.00	\$15.00	73,000.00	755.00	38,400.00	\$10.00	\$4,320.00	\$25.00	\$0,000.00	Ç42.30	\$10,200.00	Ç05.00	\$15,000.00	\$30.00	\$7,200.00	710.00	73,840.00
114	MISCELLANEOUS CONCRETE INSTALLATION	50	C.Y.	\$129.00	\$6,450.00	\$75.00	\$3,750.00	\$250.00	\$12,500.00	\$185.00	\$9,250.00	\$125.00	\$6,250.00	\$230.00	\$11,500.00	\$375.00	\$18,750.00	\$600.00	\$30,000.00	\$210.00	\$10,500.00
	STATIONS		****	Ç123.00	Ç3, .33.00	Ç. 3.30	Ç3,, 33.00	Ç200.00	Ç12,333.00	Ţ203.00	ψ3, <b>2</b> 33.00	Ţ223.00	Ç3, <u>2</u> 33.00	<b>\$255.00</b>	Ţ11,500.00	Ç3.3.00	Ç10,700.00	, , , , , , , , , , , , , , , , , , ,	<b>\$33,333.00</b>	Ψ210.00	<b>\$10,000.00</b>
	JUNIATA PARKWAY PUMP STATION -											I		I							
115	GENERAL CONSTRUCTION	1	L.S.	\$144,114.00	\$144,114.00	\$300,000.00	\$300,000.00	\$203,000.00	\$203,000.00	\$238,000.00	\$238,000.00	\$225,000.00	\$225,000.00	\$250,000.00	\$250,000.00	\$425,000.00	\$425,000.00	\$400,000.00	\$400,000.00	\$412,000.00	\$412,000.00
	WEST SHORTCUT ROAD PUMP STATION -		-	, ,	. , ,	, , , , , , , ,		. ,	. ,	,,,,,,,,,,	. ,	, ,,,,,,,,	,		. , , , , , , , , , , , , , , , , , , ,	. ,	. ,	. , , , ,	. ,	. ,	. ,
116	GENERAL CONSTRUCTION	1	L.S.	\$139,960.00	\$139,960.00	\$300,000.00	\$300,000.00	\$193,000.00	\$193,000.00	\$238,000.00	\$238,000.00	\$225,000.00	\$225,000.00	\$229,000.00	\$229,000.00	\$375,000.00	\$375,000.00	\$400,000.00	\$400,000.00	\$390,000.00	\$390,000.00
	HOWE PUMP STATION - GENERAL			· -														,			, , ,
117	CONSTRUCTION	1	L.S.	\$138,582.00	\$138,582.00	\$450,000.00	\$450,000.00	\$175,000.00	\$175,000.00	\$238,000.00	\$238,000.00	\$235,000.00	\$235,000.00	\$315,000.00	\$315,000.00	\$425,000.00	\$425,000.00	\$525,000.00	\$525,000.00	\$475,000.00	\$475,000.00
			TOTAL		\$4,688,847.15		\$5,166,666.00		\$5,288,767.95		\$5,296,795.15		\$5,373,809.00		\$5,417,000.00		\$6,223,423.25		\$6,629,779.00		\$6,634,237.15